FFT TRANSFORM WORKING

TSTART :=time (1)
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tmax::l-10_6 tmin::l-10_9 Nt::lo4 At:zw At:9.990'10_ll K :[l' Nt]
Ep=kat min(t)=9.990-10 max (t)=9.990-10 | Nt :=length (k) we=1-10"
Eo::5-105 ai=4-10° B:=480-10°
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max(EE)=5-105 min(EE):9.652-103
tplot :=eval (augment (t, EE))
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Rplot::eval(augment(f} REw)] min(RE®w)=1.169-10
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IDEVELOP IFFT TRANSFORM|
FFT:=ifft (Ew) N:=length(FFT) N:1.ooo-105
ji=[1..N] At:9.990-10_11 ttj::j.At FFTj::|FFTj|

5 . 2
max (FFT)=4.413-10 min (FFT)=6.507-10

Fplot::eval(augment(tt, FFT)] Eplot::eval(augment(t, EE))
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[time (1) - TSTART =336.97 s

[—END OF WORKSHEET




